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(1) ® A
RS (AL T, %) ERIA Y720 (BEAL: 1)
DFIBEE | AEALE | D2 MERREL [ BRI MERREL | 3B | 2MREE | JUHRE
1 Bi| 7,994,428 33.0 | 7,866,105  27.2| 7,684,822 35.5 | 151,850 | 147,093 | 142,979
2 5 Bl 309,825 1.3 302,725 1.1 302,525 14| 5885| 5661 5,629
RIS S/ R o4 3,908 0.0 5,003 0.0 4,786 0.0 74 94 89
48 4 FH O & 37,056 0.1 23,967 0.1 26,705 0.1 704 448 497
5 MR AT E 224 4 44,011 0.2 33,353 0.1 16,276 0.1 836 624 303
615 N I EBZMN A 98,861 0.4 53,533 0.2 0 0.0 1,878 | 1,001 0
THL T % B A2 A 4| 1,255,561 5.2| 1,157,953 4.0 949,154 4.4| 23,849 | 21,653 | 17,659
8 =V 7 35 Fl| Bt 22 4+ 4 70,260 0.3 64,234 0.2 71,824 0.3 1,335 | 1,201 1,336
I A = = Y B 26,643 0.1 21,783 0.1 13,274 0.1 506 407 247
10 #t 5 K B & A 4 136,734 0.6 52,177 0.2 117,558 0.5 2,597 976 | 2,187
1 5 & Bl 4,840,255 20.0 | 4,312,501 14.9 [ 4,140,502 19.1] 91,938 | 80,642 | 77,035
12 ZZBZ2 AR R R B2 A 4 4,829 0.0 4,960 0.0 4,332 0.0 92 93 81
B #H &k OC4AHRE 75,465 0.3 69,075 0.2 108,519 05| 1,433 1,292| 2,019
14 8 OB K OV F BB 135,049 0.5 133,314 0.5 177,563 0.8| 2,565| 2,493 3,304
15 Bk W & 4,722,390 19.5 [ 9,376,595 | 32.4 | 2,904,394 13.4 | 89,699 | 175,339 | 54,037
16 U x H 4| 1,511,995 6.2 | 2,460,194 8.5 | 1,416,845 6.6 | 28,719 | 46,005 | 26,361
17 {4 E I A 11,151 0.0 23,874 0.1 57,994 0.3 212 446 | 1,079
18 % Bt 4 63,798 0.3 30,766 0.1 24,761 0.1 1,212 575 461
19 # A 4 87,217 0.4 | 402,040 1.4 385,141 1.8| 1,657 | 7,518 7,166
20 fé Pl 4| 1,374,261 57| 971,568 3.4 | 1,036,143 4.8 26,103 [ 18,168 | 19,278
21 7% I Al 355,700 1.5| 358,405 1.2 360,836 1.7 6,756 | 6,702 6,713
22 i #| 1,056,800 4.4 | 1,188,200 4.1 1,792,900 8.3 20,073 [ 22,219 | 33,357
X B &) BSR4 0 0.0 0 0.0 43,196 0.2 0 0 804
& 7t 24,216,197 = 100.0 [28,912,325 | 100.0 [21,640,050 | 100.0 | 459,973 | 540,650 | 402,621
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(2) B H

(HAY%1)
i PR BB SE (BAL: T-H, %) FER1A Y720 (A7 )
DFNMEEE MR BRI M| SRR M| 3MEEE | 24REE | U
1#% =  #%| 191,715 09| 207,562 0.8 212,108 1.0 3,755| 3,881 | 3,946
2% ¥ %[ 3,882,137 16.7| 7,775,519  28.2 | 2,228,049  10.8 | 73,739 | 145,399 | 41,454
3R | 8,349,698 359 | 7,559,751 @ 27.5| 7,269,668  35.2 | 158,598 | 141,364 | 135,255
4 & #| 1,895,018 8.1| 1,490,085 5.4 | 1,426,387 6.9 | 35,995 | 27,864 | 26,538
59 B & 10,050 0.0 10,050 0.0 10,050 0.1 191 188 187
6 2 bk Kk PE ¥ #| 804,365  3.5| 1,708,993 6.2 768,372  3.7| 15,278 | 31,958 | 14,296
7 P T #| 465,523 2.0 493,106 ~ 1.8| 179,395  0.9| 8,842 9,221 | 3,338
8+ &k #| 1,982,382 8.5 2,066,836 7.5 2,345,117  11.4| 37,654 | 38,649 | 43,632
9 74 B #| 777,743 3.3 809,965 2.9 | 787,106 3.8 | 14,773 | 15,146 | 14,644
0% & % 2,328,358 10.0| 3,135,715  11.4| 3,249,948  15.7 | 44,226 | 58,637 | 60,466
112 #| 2,594,842 111 2,271,955 8.3 2,178,323 10.5 | 49,288 | 42,485 | 40,528
125 X H & 0 0.0 0 0.0 0 0.0 0 0 0
& it 23,287,831 | 100.0 [27,529,536 = 100.0 | 20,654,523 100.0 | 442,339 | 514,792 | 384,284
(HEE )
i PR BERSE (BAL: T-H, %) FER1A Y720 (A7 )
DRNMEEE AL BRI WL | SRR MR 3MEEE | 24RBE | U
A i #| 3,696,400  15.9 | 3,729,635  13.6 | 3,388,211  16.4 | 70,211 | 69,743 | 63,039
7 Gs #| 2,855,853  12.3| 3,438,578  12.5 | 2,734,342  13.2 | 54,245 | 64,300 | 50,873
ME FroM & FE| 103,175 0.4 119,770 = 0.4 | 142,500 0.7 1,960 [ 2,240 | 2,644
% )] #| 5,844,982 25.1| 4,635,729  16.8 | 4,544,269  22.0 [ 111,022 | 86,686 | 84,548
Mo By B %] 3,092,400 | 13.3 | 8,569,756 « 31.1] 2,308,321  11.2 | 58,738 | 160,251 | 42,947
o AR F ¥ E| 1,450,726 6.2 2,717,091 9.9 2,742,947 13.3 | 27,556 | 50,808 [ 51,033
WooB) ¥ 472,369 2.0 1,636,551 6.0 | 959,601  4.7| 8,972 | 30,603 | 17,854
Boooph d# ¥ 887,254 3.8 1,024,551 3.7 1,697,612  8.2| 16,853 | 19,158 | 31,584
Z %) il 91,103 0.4 55,989 0.2 85,734 0.4 1,731 | 1,047 | 1,595
7N & #| 2,594,842 11.1| 2,271,955 8.3 2,178,323  10.5 | 49,287 | 42,485 | 40,528
i VA 4| 1,648,419 7.1 9,289 0.0 5891  0.0| 31,311 174 110
& - E & 0 0.0 0 0.0 0 0.0 0 0 0
= ) & 13,000 0.1 13,000 0.0 13,000 0.1 247 243 242
@ H 4| 1,988,034 8.5| 2,024,733 7.4 2,597,119  12.6 | 37,762 | 37,862 | 48,320
& 7t 23,287,831  100.0 | 27,529,536 = 100.0 | 20,654,523 100.0 | 442,339 | 514,792 | 384,284
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